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Choose the correct Answer. PARI-| ‘ 5x1=5,
If -?,— = -&%, then the value of A is 1
a) 42 b) 386 ‘ oy d) 48
3 units to the left of 1 is ) &) 2%, )
a) -4 b) -3 o -2 d 3
If two identical rectangles of perimeter 30cm are joined together, then the perimeter of the new
shape will be :
a) Equalto60cm "b) less than 60 cm
¢) Greater than 60 cm d) Equal to 45 cm
Which word has a vertical line of symmetry? %
a) DAD b) NN c) MAM d EVE
If the HCF of 26 and 54 is 2, then HCF of 54 and 28 is —~——--—--
- a) 26 b) - c) 54 d 1
Fill in the Blanks.
. The 'sum of a whole number and a proper fraction is called -—-—-——
-46 is to the ----—-—— side of -35 on the number. line.
18m2 = --——eeeeee cm2,
The reflected image of the letter * q Cpisa S
——-—- Symmetry occurs when an object slldes to new position.
Say True or False: .
...The sum of any two proper fraction is always an improper fractlon. il
.~ -1-is'to the right of O.’
Perimeter of rectangleis P = 2(1+ b) units.
Order of rotation of a circle is infinite. i e
The next term in the sequence 15,17, 20, 22, 25 is 26.
. Match the followmg , " e
1 1 il
._53-32_ . =312
16 .25 it
5 s £ (sxs) sq‘. units
. - Area of square . No line of symmetry - :
. Parallelogram = an improper fraction

Opposite of -312 1-2—

PART - I

Answer any 10 of the following.
A
Convert 3 1g into an improper: fraction

Stmphfy + —23-
g Find the dlfferenee' between -58- and 7

. Muttipty: 8 Lx5
! . Divide : i-!— % _ 4 5 frik
115 km east of a place is denoted as. +1 5'km, What Is the integer that represents 15 km West Of it?

< <> s) In the Box.
*  Put the appropriate Slgﬁ as( s iy ._111 0 an

'.) -8 HEpel ‘,«f‘f;-,_"CHIG/Mat/I

* Kindly Send Me-You:Study-amrinis FolMBmai 1D: —padasalaimeteemail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

28.
29.
30:
31:
32!

" Answer any ﬁve of the. followmg questions.
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Write all integers between -3 and 3.
Find the perimeter of a triangle whose sides are 7m, 8m and 10m.

If the length of @ rectangle 10m and the breadth is 12m, then find its area.
Find the area of the square whose side is 8cm.

Find the perimeter of the following shape.
_ 4 cm

imeter of the square whose Slde |s 15 cm.

Find the peri
of symmetry for the glven figures and also find the number of ﬁnes of Symmetry

Draw the Ime

Draw the reﬂectivon image of the following figures about the given line.

P e LOOK

PART - lll o
5x3=15

3 e A
Saravana's father bought'2 4~ 2 M 2% mand1 7 mof cloth Find the total length of the cloth

bought by him?
1

An oil tin contams 3 3Ihtres of oil of which 2 —ztltres of oil is used. How much oil is Ieft over’7

On the number line, Which number is

i) -4 units to the right of -7

ii) 5 units to the left of 37

Find the opposite of the following numbers. g WA :
i) 44 i) 19 iy 0 iv) -312 v) 789 vi) -125
Find the cost of fencing a square plot of side 12m at. the rate of 15 per metre ' '

: _Find the perimeter and Area of the shape.

: med the area of a nght angle triangle. ‘Whose base is 18 cm and height is 12 cm.

. Draw the lines of symmetry foran equulateral triangle and regular Pentagon Also find the number .
‘of ||nes of symmetry. . 1]

PART- v
Answel’ any One of the following.
a) Draw a number line and Mark the: mteger 8.
6,-5,-1,4and-7,onit. = ' (OR)
b) - Arrange the fo||0w|ng integers in Ascendmg and. Descendmg order
. -99, -120, 65, -46 78 400, —600 : '
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